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No. of Questions : i20
Wyt s ¢ 120

Time : 2 Hours| [Full Marks : 360
| 3 269 rqurts ¢ 360

Note : (1) Attempt as many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for eack incorrect answer.
Zero mark will be awarded for each unattempted question.
it T F W E0 WO H | TR 74 3 () 5 W
vrdE AT T & g e S FTET W | Yed® SERa ¥ A
YIS P R |

(2) If more than one alternative answers seem to be approximate to the

correct answer, choose the closest one.
f wwiftres fwouEw o uft s S Pee wie @, @ freeem @l oW

¢

1. From the frequency distribution with open end class interval at the end , we
can calculate :

(i) mean (ii) median and (iii) mode.
Choose your answer from the following codes :

(1) (i)and (i) (2) (i) and (iii)
(3) (ii) and (i) (4) Allthe three

W i gen @t ST A SR /W

(ymex (i) mferEm @ (iii) TETH
& o R § ) Frerfefen g2l @ @ o Im g
(1) (i) 3 (i) (2) (i) * (i)
(3) (i) 3R (i) (4) ot i

£1.) {Turn Over)
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| B}
.

The average age of 10 people in a house is 40 years. When the age of a guesi
is included, the average age is increased by one year. The age of guest is

(1) 45 years (2) 51 years (3) 55 years (4) 61 years

s atd 10 St i ofwd 39 40 9 | W o ol F sw ofrm A v 2
st o7y ok o W et & | Rl fY oy R

(1) 4599 ‘{2) 51 af (3) 55 (4) 61 7§
Which of the following 1s least for any data ?

) Q @) P, (3) D, 4) P,
s 8 4 ol o S % o e & 7

(1) Q 2) P, (3) D, (4) P,

For 10 data sets, each consisting of 17 observations, which of the following
1s true ?

(i) The combined arithmetic mean shall be the arithmetic mean of the
individual arithmetic means.

(i1) The logarithm of the combined geometric mean shall be the arithmetic
mean of the logarithm of individual geometric means.

(iif) The combined harmonic mean shall be the harmonic mean of the ind;-
vidual harmonic means.

Choose your answer from the following codes ;
(1) Only(i)and (i) are true.

(2) Only (11) and (iii) are true.
(3) Only (i) and (111} are true.

(4) Allare true.

(2) (Continued)
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10 3t F oot wars 17 oo @A, & fo e dd e a2 7
(i) &l sfmmfirdta wmeat &1 st mea, wae i mer 2

(ii) FafrF iR Tet % egr W sl T, T T @eg w5
T E |

(i) 4aftre gewh A w1 I TR, WA EA We R |
Pl 23 % ¥ o 3mogfin

(1) Fa@ (@) @K (i) g & |

(2) = (i) 3 (i) Fw § |

(3) ¥ () AR (i) v ¥

4) whaad|

The statistic defined as the distance between 70th and 30th sample percentiles
gives us the information concerning

(1) Central tendency (2) Dispersion
(3) Skewness (4) Kurtosis

703 3 30§ whred e % weg g 7 wife wonfi R @t

(1) F=r w3t | (2) s
(3) fawma (4) wgaa
# HEig gEar e

(Tirn Cheerd
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A reading test with maximum score 50 yields & bell-shaped synm:crnc:;r.:
distribution with scores ranging from 5 to 48 on a large sample of class [}
students. If the same test is administered to class V students, the frequency
distribution is expected to be 7

(1) Positively skewed.

(2) Negatively skewed,

(3) Symmetrical and bell-shaped.

(4) Symmetrical and bathtub shape.

i 11 % ol ¥ awg Wi W, orftrman 50 SeTEIaTet U aTe SE, Wi S

} 48 7% 6 dm % Ty v vaen gafe w9 Tk | of o whe e VoF a
Tt & Fret & SETE g

(1) w=mws Rm

(2) womeRs fawm

(3) vl 3 gegraER

(4) a3 T F WA H

#1 vl 2 ) |

If x and y are uncorrelated variables then this implies

{i) The absence of any linear relationship between them.

(ii) The absence of any functional relationship between them.,
(iii) Theseare independent variables,

Which of the above is/are correct ?

(1} (i)only (2) Both (i) and (ii)

(3) Both (i) and (1ii) only (4) All .

(4) (Continued
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x My FEEaatad T, N w7 9 g
(3% ¥ = Has gy T R
() FE A R e gy o g

(iif) @ a5 W} |

INHEEAERE 7
(1) & (i) (2) (i) 3t (ii) 2
(3) (i) 3k (iii) g @) =

In order to fit a polynomial of degree 2, how many summations are to be
cmputed over 3 observations under least square principle 7

(1) 10 (2) 4 (3) .7 (4) 16

fRardr agye ) wafia w0 F R =gwen o g % svta 5 et & Rt G
astfirsfera g1 & 7

(1) 10 (2) 4 3) 7 (&) 16

A data set containing paired values are shown by points in (X, ¥) plane, then
the corresponding diagram is known as

(1) Point diagram (2) Correlogram
(3} Dendogram (4) Scatter diagram

gffm wnit st e el & T (X, Y) 7w W Rl g guhn mn g, @
nrafarm amg

3 T e (1) ®iEm
(3% oo (4) sfid sTa
& wifa T s 2

151 (Frrm Dhver
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10.

11.

12,

If the regression line of ¥ on X is Y+0.8X¥=25 and the standard deviations
of X and Y are respectively 3" and 8, then the value of the correlation

coefficient » 1s
(1) -0.3 (2) -04 (3) 0.3 4704

e X WY FammEm @ F+08Y=25 2 akh ¥ afw ¥V & waw freer
w09 30 8 & W WeHay Miw & AH B

(1) =03 2) -04 (3) 03 (4) 0.4

Suppose r is the correlation coefficient between two variables Y and Y
where standard deviations of X and Y are equal. If 6 is the angle between
the regression lines then :

1+r° L4r 2r L+ 9

2) secl= 3) cosfi=———r (4 sin@=c0
7 @ 7 O s Wenfas—

(1) tanB=

TR R QT X AN Y % dl weeey i - § AR X o Y R o
forerer o wom & | R wwEn et ¥ e w v o 3,

__l+r1 [4__,-; Ip ) i z
(1) mﬁ_mzr (2) sechb= (3) mﬂ:ﬂ? (4) sin??:lj:

2r

fom

For three attributes A4, B and C, given that, (A}={B)={C)=£ an
2
(ABC)=(apy) the relation between (4BC), (4B), (AC), (BCYand N is
(1) (ABC)=(AB)+(AC)+(BC)-N
N
(2) (4BC)=(4B)+(4C)+(BC)~ =
(3) 2{ABC)=(AB)+(AC)+(BO)- N
(4) 2ABC)=(4B)*+ (AC) + (BC) - ~

(6) {Continued)
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fel v ol 4, B 3l C% R, AR R T A, (A)=(B)=(C)=— ¥

(ABC)= (aBy) , @ (ABC), (AB), (AC), (BC) 3irx N 3 i wearma &

rJlE

(1) (4BC)=(UB)+(4C)+(BC)~-N

N
(2) (4BO)=(4B)+(40)+(BC)~ 7
(3) 2ABC)=(4B)+(4C)+ (BC)- N

N
(4) 2(4BC)=(4B)+(4O)+(BO) -

lo a series of houses actually invaded by small-pox 70% of the inhabitant is

attacked and 85% have been vaccinated, what is the lowest percentage of the
vaccinated that must have been attacked ?

(1) 62.3% (2) 64.7% (3) 68.3% 4) 71.0%

S ¥ e & ot e wed & 70% Frawh 3w @ 7fta 3 @ 85% %1 S
§mﬁfwﬁmﬂmﬁﬁmmqﬁmm

(1) 62.3% (2) 64.7% (3) 68.3% (4) 71.0%

The joint probability density function of (X, 1) is f(x, y) = exp{- (x + »)},
for 0<x<® and 0<y<=.

Assertion (A): P(X<Y | X<2Y)=PX<Y).

Reason (R):X and Y are independently exponentially distributed which
possesses 'lack of memory property’.

Select vour answer from the following codes :

(1} Both(A)and (R) is true and (R) 15 correct explanation of (A).
(2} Both(A)and (R} is true but (R) is not correct explanation of (A).
(3} (A)istrue but (R) is false.

{4y (A)is false but (R) is true.

(75 (Turn Over)
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15.

(X, Y) 1 WG WA Red Ger £ (x, p) = exp{- (x t )}, 0

0<y<= &fg, |
A (A): P(X<Y | X<2P)=P (X<}

oy

T (R): X o ¥ @ swarard aita € 9 wft Al m' @) b

Frfrfie ot 3 & a1 R g
(1) (A) 3 (R) 3R et § 3l (A) % @t =i (R) 2 |

(2) (A)aR (R) 21 wer § R (A) =1 v endim (R) 72

(3) (A)&= & W (R) 38} |
(4) (A)FETRU (R)w R |

The joint probability mass function ef random variables X and ¥ is

Axe-.-ip_b{l_p]:'-y I*G 1

flxy)= y=0L..xx=0l,.....

pi{x-)

The marginal distribution of

(1) X and Y both are Peisson.
(2) X and Y both arc binomial.
(3) X is binomial and that of ¥ is Poisson.
{4) X isPoisson and that of ¥ is binomial.

Tfess W X ol § &1 g wilea w1 S
Vetp'Q=pt . .

f(x,y)= yEQLiarisdlo o

yix-p)!
2

)y Xy suraasmard ¢

(2) X $RY 3 & 3o 5t e §

(3) X 13w 72 fowe s ai ¥ o wamai 1

(4) X %159 9% anat i Il ¥ w e d
(8)
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16. The joint probability density function of (X, ¥)is

fi ®3)=2 0<x<l, 0<y<x

=0; elsewhere.
The conditional probability density function
(1) Sfulxly)=1(1-y) for [}*:x*:-l and zero elsewhere,
(2) S (xly)=1ix for y<x<1 and zero elsewhere.
(3) f..(ylx)=1/x for 0<y<x and zero elsewhere.
@) fr(y|x)=1/(-y) for0<y<1 and zero elsewhere.
(X, ¥) 1 6gw Wi e Ferd

fr.r(xi.}’}=2; 0<x<l, [}{y{x
=(; 37 |

wRafa wfisa o e

(1) Ser(xlp)=1/0-y), 0<x<1 % g 3 7 3 |
2) e (xly)=1/x, y<x<1 ¥ R0 3 I 3737 |
(3) freix)=1/x, 0<y<x ¥ foe o ¥ 7= |

(4) }‘“_[}.|x}=1fﬂ_}-}!{]n‘_‘yt‘ii %maﬂtﬂﬁﬂmi

(9) (Turn Over)
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17. The joint probability density function of (X, ¥)is

Sy y)=(+xp)/4; |x|<l, |y[<]
=0 elsewhere.

Assertion (A): X* and ¥? are not independent,
Reason (R): X and ¥ are not independent.
Select your answer from the following codes ;

(1) Both(A)and (R)is true and (R) is correct explanation of (A)
(2) Both(A)and (R) is true but (R) is not correct explanation of (A).
(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true |

(X, ¥ ) %1 63 TR oo Berd

Loy ) =U+x)/4 jxlk], |yi<l
=0; 33
e (A): X7 sk v we
R0 (R): X 3R ¥ weg 9 # |
et ot 3 @ 3103 g

(1) {ﬁ)W(R)ﬁw%aﬂt{ﬂ}WHﬁmﬁaﬂm{Rﬁ:
(2) (A)3M (R) 3T 7w & 3R (A) F1 &t wvhemn (R) 7 2 |
(3) (A)Fa Ry (R) = R |

(4) (A)swR Ry (R)FR |

(10) {Continued:
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18. X is anon-negative random variable.
Assertion (A): E(X)21/E(1/X)

Reason (R): 1/X is convex function of X

Select vour answer from the following codes :
(1) Both(A)and (R)is true and (R) is correct explanation of (A).
(2) Both (A)and (R) is true but (R) is not correct explanation of (A).
(3) (A)istrue but (R) is false.
(4) (A) is false but (R) is true
X e Fgfead = 8

wftea (A): E(X)21/E(1/X)

FW (R): 1X, X 1 T e R |

(1) {A)aﬂt{R)'ﬁwtm{A)maﬁm(R}tt
2) (A) 3R R) 2 v & ot (A) w1 v Tt (R) 78§
3) (A)TR T (R) At |

(4) (A) ¥ 2 g (R)FA 2 |

(13) {Turn QOver)
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19. F is the cummulative distribution and £ which is symmetric about zcro.
the corresponding probability density function of a continuous random vanak
X. Which of the following statements are true for all choices of @ >0 7

(i) F(-a)+F(a)=1

(i) P(X]>a)=2F(-a)

(iii) P(X|<a)=2F(a)-1

Choose your answer from the following codes :

(1) Only (@) and iii

(2) Only (ii) and (iii)

(3) Only (i) and (ii)

(4) Allihe three

F &) e wer 3 £, 1 ) Y IR 99 R, RR wam s w5

WRIET T Tes Fod B | o> 0 % ot w2t & e Pifafem =t 3 2
T

() F(-a)+F(a)=1

(iiy P(X|>a)=2F(-a)

(iii) PGX|<a)=2F(a)-1
frerferflas 21 8 @ o9 s g .
(1) === (i) 3fn (i)

(2) =7 (i) 3 (iii)

(3) = (i) #R (iii)

(4) =f &=

(12) (Continuec
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If X and Y are two Potsson variates such that X~P(1) and ¥~ P(2), the
probability, P(X+¥<3)is

(1} 85¢° (2) 4¢3 (3) &3 (4) 3¢
aft ¥ o ¥ @ wmi e d, Y- P(1) @ Y~ P2), 8 s P+ Y <3) Bref
(1) 85¢ (2) 4¢3 (3) €3 (4) 3¢

in hypergeometric distribution HG(N, K, n), if N o «, %—} p, it reduces

to the following distribution :
(1) Gamma {2) Geometric
{3} Binomial (4) Normal

TR SRR 58 HGWY, K, n) #, R N >0, %ﬂp,ﬁwmﬁmm

¥ 5e 2
(1) | (2) =i

(3) vz (4) FEEHH

For normal distribution, the quartile deviation, the mean deviation and standard

‘deviation are approximately

AT 92 & R TgdE frem, o faaem ok uee R s

) (3} 10:12:15 (4) 1:1:1

it | =

(1) 1:2:3 (2)

For exponential distribution with parameter 6 > 0, variance =mean if
A de 0> 0 YA & ol o = e g Al 1
(1) 8>1 (2) 6=1 (3) 0<B<1 {4)9:5

(13) (Turn Over)
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24,

25.

26.

Mean deviation about the mean for normal distribution is approximately
YA e % R W } ared feer w1 e am Em

) o @ 35 G pre @u-o

The moment generating function of a random variable X is (! +3¢' )1 /16, then
Xisa
(1) Bernoulli variable (2) Binomial variable

(3) Poisson variable (4) Geometric variable

Pt Ao WX w1 ol o we (143¢') /16 8, 1 X @

(1) et =t} (2) fow R

(3) w@maf = 2 (4) sl < &

If X and Y are independent standard normal variable, the distribution of
square of their ratio would be

(1) Normal (2) Chisyuare

(3) ¢ (4) F

(1) o (2) =d i

(3) ¢ 4) F

(14) (Continued)
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The probability generating function of geometric distribution is

i TR F R i o we R
£ d A A
W 127 @) 15 @) 1= @ =7

If &(r) is characteristic function, which of the following is incorrect ?

(1) (o)<l
(2) &(r)is continuous everywhere on real line

(3) O(r)is real iff X is monotone increasing function of ¢
4) =1
afe o(f) SerET B 3, @ Frefefen § @ 9 o } 7

ORLGIER
2) o0 areafas Y@ W T /@ 8

(3) ¢ areafas 2 78 o Faw ot 9@ X Ter wea §eN S R
4 ¢0) =1

A symmetric die is thrown 600 times. then the lower bound for the probabi-
lity of getting sixes between 80 and 12018

ﬁmﬁadﬁaﬁﬁmmmwt.?ﬁ 0% 120 o R ) wiwwm Ht B
ey 2

(1y 19/24 (2) 17/24 (3) 15/24 (4) 13/24

(15) (Turn Over)
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30.

31.

Which of the following is/are true ?
S : Poisson distribution is limiting case of binomial distribution
P : Poisson distribution is limiting case of negative binomial distributivn
Choose your answer from the following codes :
(1) Both S and P are true
(2) S istruebut P is false
(3) S is false but Pistrue
(4) Both S and P are false

ﬁﬂﬁﬁﬁﬁﬂ d ¥ wH 9 %:ﬁg ?
S : GraE! 924, 7§92 90 w1 dinia 5 }
D . WH| 52, HOTCHE w1 Hun avaen ¥
I I F=faf w2 & @ g
(1) Swu PN w=}
(2) Su™ & T P wA &
(3) SR PE}
(4) Saw Padt rmw ¥
In tossing of an unbiased coin four times, define E : Getting at least two
heads and E, : Getting at least two tails. The events £, andE are
(1) equally likely,
(2) independent.
(3) mutually exclusive.
(4) both equaliy likely and independent.
w i fl & W1 IO 4, £, w8 w9 3 el @ ym o E

ey T )
ﬁgﬁwmqﬂmﬁaaﬁmsmﬁ £, E
(1) woemrss § |
(2) @@
(3) ER Sqa ¥ o
(4) TwEnTER SR T a2 § |
(16) (Contin
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<. Anunbiased coin is tossed until & head is obtained or the total number of tosses

is 7. The total number of possible mu tually exclusive outcomes would be
(1) 7 (2) 8
(3) Lessthan?7 (4) More than 8

wmﬁmfﬂmmwwmtmmﬁsmmmﬁmﬁﬁm
730 T | % TR TRa vEs oitomt i T Bt

(1) 7 (2) 8
(3) 7&=m (4) 8% ¥t
In a university 60% students are male, 50% of the male students and 30% of

the female students are smokers. If a student is seen smoking, the probability
that it is a male student is

(1) Lessthan0.5 (2) Between0.5 and 0.6
(3) Between0.6and0.7 (4) More than 0.7

Pt Rl # 60% om qou ¥ | qeveTE & 50% afv wivemomETet @ 30%
yarerat € | af i BT qEeR W ¥ e T & @ 7w B gevem 4, 9§ wivw
(1) 05 awmd (2) 0.5 0.6% 7eg

(3) 0.6 30 0.7 % g } (4) 0.7% wiftes &

Anum contains 'a’ white and '5' black balls. A ball is drawn at random and kept
aside without noticing its colour. Then a bail is drawn at random from the
remaining balls. The probability of this ball being white is

TH FO ‘o' wHg N b weh R wam 4 | s W s g Pt W s
e 35 U1 2, e v @ et R 1 aw o e R O @ o e mfeew v @
el ot R 1 3E e % wihe B ) iRk B

i1y {fa~1Y/ {a+ b) (2) a/(a+b)

3 la- i/ {a+bh-1) (4y a/(a+b-1)

(17) (Turn Over)
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35. Under usual notations,

36.

(4nBAC)U(CABAA)(ANCAB)
denotes happening of
(1) Atleasttwoof 4, BandC
(2) Atmosttwoof 4, Band C
(3) Exactlytwoof 4,BandC

(4) None of the above.

yafe GhmeR] % A,
(AnBAC)u(CnBAA)u(4nCAB)

(1) A B¥CATFnRFNY

(2) A, B3R CHE i 3

(3) A,BiRChiadwEq
(4) 30w § & % T

&1 B ffde e 2 |
Which of the following defines probability ?

(1Y Q=(0,x), AcQ, P(A)=0.IfAis finite and P(4) = 1 if 4 in infinite,

(2) Q={,2,3,.. , ACQP(A) =Y p(x) where p(x)=| : j ez
s LAy
(3) Q={i23.. 2L AcD, PLA) =0 if 4 has even number o oleman; o~

P{4}=11f .4 has odd pumber of elements.

2
20

:4] 5-1 = {21 3,45 5‘ 6}‘ A g Q P{_}‘E} = z p{x] whﬂl’ﬂ ﬁ{:{'__‘.’ - -—-i- T .-.'E.,E.-";_,ﬁ.:.'.:.
xiad

(18) {Contiane:
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Preafefiaa # @ < wiftea vionfia wa@t 7
(1) Q=(0,), 42 Q, P(4)=0 3R 4 HfiA 2 3l P(4) = 1 7R 4 aeffmd

(2) Q={123,...LACQPA)=) p(x) 7d p{x)=[§] s e I
A

M P(A)=1 9t A st A e ge A k)

xa A

(4) Q={23456 4O PA=Y, plx) T pW=25,5=23456

If f(x.y)=e"""" x>0,y>0, is joint probability density function of (X, ¥)
then P(X<2Y) is

aR fxy)=e" x>0,y>0,(X, V) ¥ 5gH NiEa v woF ¥, @
P(X<2r) ®

(1) 372 (2) 572 (3) 2/5 (4) 273
The standard error of sample mean is

yfemst mreq TS T 2

(Y g 2y, o idn (3} oin 4) o/Jn

(19) (Turn Over)
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39, Which one of the following is/are true for independent variables X and V'

S: X ~B(10,02), ¥ ~ B(0,03) then X +Y ~ B(10,0.5)
P: X~P(5). Y~P(7), then X+ ¥~P(12)

Choose your answer from following codes

(1) BothSand P are true

(2) Sistrue but P is false

(3) Sis false but P is true

(4) Both Sand P are false

i T X Y ¥ R Prfrien 3 @ 9 T /4 7
S: X~B(10,02), ¥~ B(10,03) & X+¥~B(10,0.5)
P: X~P(5), Y~P(7), & X+Y~P(12)

st 3w fferfes e o & gy

(1) Sk Pt e §

(2) Sum R PEt

(3) Sy R pPEat

(4) SR PEHl sme §

(20) (Continuc
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40. If X and Y are independent exponential random variables with the same

41.

mean ‘A, then the distribution of min(X, ) is
(1) exponential withmean A/2

(2) exponential with mean 2

(3) exponential with mean A

(4) Notexponential

MR X SR Y 9 W A AT Tee Wi ages = @ <pew (X, ¥) w6
8

(1) =&y A2 9T U |
(2) =T 2)\, T HIETH |
(3) #mem )\ STen wEEn |
(4) wrarht & |

A data set gave a 95% confidence interval (2.5, 3.6), for the mean 'y’ of a
normal population with known variance. Let p < 2.5 be a fixed number. If we
use the same datatotest A :p=p, vs H :p 2 p,

(1) H, would be necessarily rejected at o =0.1
(2) H, would be necessarily rejected at o.=0.025

(3) For a=0.1, the information is not enough to draw a conclusion

(4) For a=0.025, the information is not enough but conclusion may be drawn

I SO 91 U WA WA % W p o ford o avteer e, 95% frearea
3, (2.5,3.6) 3R | W IR R < 2.5 Fr Fea w1 aR w7 ot
RN OHyp=p, vs H o pz p %0050 F R swam ww §, @

(1) a=0.1%H JEwsd: J&iFa g |

(2) o=0.025 W H, EvaFd: SEFa g |

(3) a=0.1% fo, frswd freme & ol e orqain 2 |

(4) a=0.025% R, gon soaw 2, e of freed S T asm R

{21) (Turn Over)
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42. Let X~N(u,o%). Letboth p and o be unknown

43.

® ={(m0?):0 <<, o >0}
Null.hypothesis H, : 1 < W, o? > 0 where i is a known constani and the
alternative hypothesis H, :p>p, o*>0.
(1) both null and alternative hypothesis are simple
(2) both nutl.and alternative hypothesis are composite
(3) null hypothesis is simple but alternative hypothesis is composite

(4) null hypothesis is composite but alternative hypothesis is simple

RX~N(p o)A 1 R o? wm @ @) ={(1.0°)i=m < p<v, 07 >0
¥ R @ ofmeEm H)op o<, 00> 0 3§, w6, e s b ok fisg
s H i p>p, 0°>0 %1

(1) 2 3 At 3t aftwern smomm § |

(2) T 3 SR el afeern fifya & |

(3) T e Frm v A wheee ffke 4

(4) = viEen fifim o e vieee ammo

'p' is the probability that a coin will turn up heads and 'X* be the no. of heads
obtained in tossing the coin 100 time. For testing /. p = 0.5 agianst
H:p<05ata= 0.05 and with X' =45, the value of tost siazistics is

firds wt vl a1 ) wifsean 'p' 3, ot 100 90 fidk =) sorers o st ) g vy
21e=005 M X=45Fa9 H :p=03 R 4 o0 % Twogvhms
forv wlior wifeghi ®1 aw B

(1) -1.64 (2) -1.00 (3) ~1.95 (8} -2.84

(22) (Continved)
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(24)
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With usual notations the condition for unbiased test is

(1) Sup P,(8) = Inf P {6) (2) Sup P.(8) 2 Inf P,(8)

be@®, be@, Be®, be@,
(3) Sup P,(8) = Inf P,(0) (4) None of these

0e@®, Be@®,
wafers Tl # g vlew & e fa d

(1) Sup P(6) < Inf P,(®)  (2) Sup P,(8) 2 Inf P(B)
0e@, e, 0e®, 0@,

(3) Sup P,®) = Inf P, (6)  (4) ¥ & w7
0e@), 0e@,

A random sample of 10 students were selected from a class. Their marks in
first semester and second semester is noted down. To test the hypothesis that

there is no change in average performance of the students of that class against
that it has improved, which of the following test is to be used

(1) y>-test (2) twoindependent sample f-test
(3) paired t-test (4) F-test

U w4 @ 10 ot F g wfied 0w | 3 v i @ R dee
¥ afmt # fora 741 } | i & ohaw weia f st 2 & i vl guw
2o 3 ¥ favg wReeen waw $ forg, Aimfifea 4 @ fem wdem & wdm e

FETE
(1) y* witgor (2) 2 w=as yhed  r~alew
(3) gfia -wlaw (4) F-atsor

(23} (Turn Over)
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46.

47.

48.

For testing H,: o> =o,? against H, :a’ # g,? , which of the following test
will be used

(1) r-test - (2) One tail F-test

(3) Twotail F-test (4) Chi-square test

Hy:o*=o} &g H :0® 20} % wam & forg firafirfiem & & g
qiero =1 w4 R smem

(1) t-wiegm (2) T =8 F-vhe

(3) fa-ge8 F-vism (4) wr-=t whem

A sample of size n is drawn from normal distribution with unknown mean and
unknown variance, which of the following hypothesis is simple

(1) H,:p<100, 6*=25 (2) H: p=100
(3) H,:0°=25 (4) None of the above

W n m%wﬁaﬂaﬁ-mmqﬁmmmméﬁﬂﬁm
2, T @ B H qfEerT W R -

(1) H:p<100, 6°=25 (2) H,:p=100
(3) Hu:0’=25 {4}@%&%#{%

The result : 'Unbiased estimators based on complete sufficient statistics are
unique' is due to

(1) Cramer-Rao (2) Rao-Blackwell
(3) Lehman-Scheffe (4) Karlin-Rubin

(1) #m-ta (2) Ta-adra
(3) TRE-T% (4) Ffelr-sfim

(24) (Continned)
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If T, is a consistent estimator of '0', then ™ is a always
(1) Unbiased estimator of ¢° ~ (2) Consistent estimator of

(3) MVU estimator of ¢°. (4) None ofthe above
R, .T‘,'B' FEITRHETE L, A @

(1 e“wmﬁq{mw ' (2) €W ET HEHEE B
(3) e ® MVU mfm (4) 39t F @ = ff

Let X, X, X, bea random shmpl: of size 3 from a population with mean
value p and variance o?. T, T, and T, are the estimators used to estimate mean
value 'u' where

_AX + X+ X,

T=X +X,=X, T,=2X43X,~4X, and I, :

The best estimator in the sense of minimum variance is
() T, @) T,
(3) I, : " (4) None of the above

m?ﬁ&qﬁ:mm p ¥Ry of A et wmiR @ 3 amen W B aRfeew
el X, X, X, 17,7, st T, el 1 3w meg o ' & e
& fort forn R, el

=X +4X,-4X,, T;=2X1+3X3-*4X13ﬂ'{ };="1Xl+‘:.1+xs
AT Y % Y § gEd AT SeE A AR 7
M T ) T,
3 I O EE L
(25) (Turn Over)
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51. If X, X, ..X, aréindependent and identical variates from a density function
£ (x, 8), then the Crammer-Rao bound for the variance of an estimator 7, of

1(8) is given by the following inequality

uﬂ:xl,xz,.. X v R f(x, 0) ¥ W0A A EE TE F 1(0) * ff
armr %m%mmwmmmﬂmﬁ?mﬁmm%

[7@O)F

a 2
HE{E log f(x,8) ]

(1) ¥l(7,)z

[F@]

al
36" log f(x, ﬂ}]

@) %)z
|

-[='@]

d* log f(x,8)
88*

(3) V(T2
| E{

-[F©F
[ 9 log f(x, é‘).‘

(4) Vs (?:. )
86°

(26) ( Comrinued)
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Atest T which is at least as powerful as any other test of the same size for all
values of the parameter under alternative hypothesis is called

(1) Best test

(2) Most powerful test

(3) Uniformly most powerful test
(4) None of the above

T T T it s Ao afees % srrta wraw & ot ot & Ry, w0 @ sy
I TRl B RO 9 R 1 B 35 e, e §

(1) waas wem
2) w4 nfrerel whew
(3) wHR &Y Y §d i gfem

(4) 90w 3 A Ff T

Atest T for which maximum risk under A and H, is not more than the maxi-
mum risk of any other test T'* under H and H , is called

(1) Anunbiased test

(2) Uniformly most powerful test

(3) Anadmissible test

(4) Minimax test

H, & H, % sr=wia w whew T Rres sfusam st H, 791 H, % smofa R
= qleer 7% ¥ srfrman sifm & aifues 78 R, Fwem R

(1) = Fwg glgn
(2) #H ®9 ¥ g4 vitmeh gl

(3) u U e
(4) Tl afiem

(27) (Turn Over)
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54.

55,

The ratio of the mximized likelihood function under H, and under the entire
parametric space, is called

(1) Probability ratio

(2) Sequential probability ratio

(3) Likelihood ratio

(4) Monotone likelihood ratio

H, % S=pa e woqot wiee S0 & i St Ger w1 o, wwe ¢
(1) s S

(2) i sfqshan AT

(3) T YR

(4) T RISl S

Sampling error occurs in

(1) Sampling only

(2) Complete enumeration only

(3) Both in sampling and complete enumeration

(4) Neither in sampling nor in complete enumeration
wferam ufda @ &

(1) et wfegmm 4

(2) wa@ gt Mo §

(3) witeEm qen wqvl or 2§

(4) 77 wfeem # 7 & g o |

(28) it mnnpedd
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(30)

18P122123 (1)

If the sample values in a sample of size 5 taken from a population of size 20

with SRSWOR are 1, 2, 3, 4, 5 then the unbiased estimate of variance of
sample mean will be

ﬁ&SRSWORﬁr&rgmzﬂm%ﬁwﬁﬁﬁmmsm%nﬁaﬁﬂm_
T 1,2,3,4,5 & ot wioee wrem & yww w1 smfee s B

(1) 0.07 (2) 0.05 (3) 0.375 (4) 1.5

- From a population of size 25, a systematic sample of size 5 is drawn. If the

first unit selected is 3 then the other units will be

ESW%wﬁﬂﬁmmmnﬁwmmwwﬁmgﬂym
38 & sert dft

() 813,1823 (2) 8,12,1520 (3) 10,12,14,22 (4) 10,15,17,22

Ifthe values of S? for all the strata are same, then
(]‘} V[Fﬂ)ﬂqzv(;ﬂ)pmp (2} V(FH)NQ-}F('?")W
3) V(T dyey <V (Fuymp @) V(Tady =V s

where V(P V(7u) e 2nd V(7),y Uenote the variance of stratified
sample mean (¥, ) under Neyman allocation, proportional allocation and
variance of sample mean (¥) under simple random sampling,

afé §? @ 7R wfi T & v e @ @

(1) ¥ (Ve =V (P )i 2) V(Fu )y >V (P
(3) V(Fﬂ)my b V(E')pmp (4) V(Fn)u., =V(F)sm
T (F s V), FV(F),,, 0 Tiha s sz & o frem,

sreht Fet % orveta we, iR wiagd mrer () % wew el e d |

(29) (Turn Over)
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59.

60.

1 &
Ll

In sample surveys, by choosing sample size properly, we {an contro: i
following to its minimum level

(1) Only sampling error
(2) Only non-sampling error
(3) Total of sampling error and non-sampling error

(4) Neither sampling error nor non-sampling error

TRt wdew ¥, yird en ¥ g o g, W P S s e o
Prafae & waa &

(1) Fas sfwga IR =
(2) ¥ sl R A
(3) sfragm 3fe o s Ife &1 am
(4) 9t it g 7 & swfe=wa 1R
In a survey from a population consisting of N = pk units, a sample of »
units is selected with a random start between 1to & and then selecting every
g unisscﬁiﬂn (A) : The variance of the unbiased estimate of the pepulation
mean cannot be estimated.
Reason (R) : No unbiased estimate of population mean exis:s,
Select your answer from the following codes :
(1} Both (A)and (R) is true and (R) is correct explaniation of {A)
(2) Both(A)and (R) is true but (R) is not correct expianaiion of (2
{3} (A)is true but (R) is false
(4} (A)is false but (R) is true

(30) i antined
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N = nk Tt @R T foredt awf? @ wdaw o, n el = o e, 1k
¥ ner et amgfeos wow o R s 49 v o 1R, s fasan e 2

T (A): o T F AN FreerE TR YRR T R o
qear k|

I (R)': wf? arey & fea e w1 S iR T f |
Preaferfae 2t # | o I g
(1) (A) 3 (R) 3 aea § 3 (A) & 5d% oy ®)?
2) (A) 3 (R) 3 e & org (A) it wds = (R) 7 3
(3) (A)F g R) ot
(4) (A)¥w § weg (R) & @
If the coefficient of variation of the study variable Y and the auxiliary variable
X in apopulation are 18 and 32 respectively, then for what range of the coeffi-
cient of correlation p between X and ¥, the ratio method of estimation will be
preferable over sample mean ?
(1) p<0.63 (2) 0.33<p<0.80
(3) p>0.63 but less than 0.85 (4) p>0.88

afe fadlt waft § asremafia w0 ¥ o wews wt X w1 Rwer o sua: 18 af 32
£ X aR Y & v wegmey i p Y fRw A & R anem it s
ARy st arer @ wgerfl Sift 7

(1) p<0.63 (2) 033<p<0.80

(3) p>0.6370.859 (4) p>0.88

(31) (Turn Over)
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62.

64.

A T

A population consists of 6 units (g, b,¢,d, e and flancda oot
selected by simple random sampling with replacement. . = anabuity thar
units a and b are in the sample is

ww Tl 6 ¥l ( a, b, ¢, d, e 3R fw@a ¥ 3l wEiT e
uferaad g 2 3R w1 OF iiey wafa fem w2 ) sfaes © st o o
¥ 7 i wRrm wnit

(1) 1/3 2) 1/9 (3) 1/18 (4) 1115
Two types of effects measured in a factorial experiment u;

(I) Main and Interaction effects (2) Simple and complex effects

(3) Both(!)and(2) (4) Neither (Vi ror (3

T RIS WA 1 wnfta 2 e % yvE B

(1) &3 9 =a=afeg weEf & (2) amw 3 Wi s 2
(3) (1)3 (2) 2H @ (D3 )2 3 2 =3

When p be the level of the factor 4 and g be the level of the factor 7 =
case of two-way ANOVA with one observation per cell. then swhat wil! he the
degree of freedom of error sum of squares ?

H TR ¢ W IR T I N wEE AR T a7

(1) (pg-1) 2y p-13ig."

(3) plg-1) (4) glp- )

(32)
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What is the critical difference (C.D.) for any two columns with 4 factors
having k categories ?

k Aoft & A FH & T et 3 dfts #1 wfRe aw=w (C.D.) w1 8w 7

2MSE
{]) r{h-l[t-l](a“fz}JT {2} !{h_]xkq}(alﬂz} E‘gllf—E
2MSE , SSE
H} ‘1&-1}(&451&732) T {4} fu_,“_”(afz} z_h"

What will be the error degree of freedom in case of 8 x 8 Latin Square Design ?
8 x 8 wfew at sifderemn % 3R w1 o PR T dm 2

(1) 41 (2) 42 (3) 64 (4) 43

What is the number of basic principles of Design of Experiment and which
one isnotusedin CR.D?

(1) 2.Local Control (2) 4, Randomisation
(3) 3,Replication (4) 3, Local Control

va %1, afireear # g fag=t f den s oft CR.D 9 a1 78 s
LI

(1) 2, e =g (2) 4, FEwm

(3) 3, Fugh (4) 3, T frg=m

(33) (Turn Over)
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68.

69.

In a statistical model, errors are always taken to be

(1) Independent (2) Distributed as VT, a7
(3) Both(l)and(2) (4) Neither (1) nor (2}

s wifeadr view 3 = w¥a = o }

(1) A (2) MO, o) $1 wifa sfem
(3) ()3 () @ (13 ()4 % A

q, isthe probability that a person of exact age x years w il die before teach-

ingage x+ 1 yearsand m_ is the probability thai 4 persor belonging fo the
age-group x to x + 1 year will die while in that age-group, then m, is ap-

proximated by
(1) ¢,/2~9) (2) 2¢,/2-q,)
(3) ¢,/(2+q) 4) 29 /2 +4q)

R Ehm omgx a8 F B =fE F g x + 1 v e & @ gy @ wh, #
Hﬁﬁ-ﬁﬁgxiaﬂtmgﬂﬁx ¥ x+ 1 o 7% F Bl s & gmg 3d gt
@W’ﬁ,ﬁmﬁﬂﬁnmx%ﬁ’lmj

() ¢./2~q) (2) 29,/2~¢)
(3 ¢, 4(2+4) (4) 29,12+ 4 ;
z7 i T s 2
(34) Comilinied:
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For a stationary population

t1) The overall birth ratc must be less than death rate but these must remain
constant,

(2) The overall birth rate must be more than death rate but these must remain
constant.

(3) The overall birth and death rates must be equal but these must remain
constant.

4} The overall birth and death rates must be equal but these may not remain
constant.

T wEe % firg

(1) wwered Q TR, g & g iRy vog e R e i |

(2) WY @ TR, Geae & e E S e R R Tem i |

(3) TAEET A FEL, JrIE & FRR A AR T w! R Ten =i |

(4) T ¥ TIET, TRIE % TOE B aniee w4 e ff oft v wwd
Which of the following shows that how many children would be born to 1,000
women if none of them died before reaching to the end of reproductive

period and if all were subjected to the observed specific fertility rates
throughout this period ?

(1) Crude birthrate (2) General fertility rate
{3) Total fertility rate {(4) None of the above

fry # & 2 oot & f6 1,000 shwl # R o=t 391 gw A, AR g @ W
Qe Taf & ofd o | d T 7 ol ot weft Mg et & o of 2

1y TR TR (2} AW FETAIEL
5) R TR 14) 7o i @ wE T
22 (Turn Over)
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72.

73.

Which of the following is not method of construction of abridged life table ?
(1) Pearl and Reed method (2) Reedand Merrill method

(3) King's method (4) Greville's method

frr % & A wdia st noft % i $ Ry T § 2

(1) wet 3R G Ry (2) g sf e fafiy

(3) fon & fafy (4) Hfem i fafy

Which of the following is not correct interpretation of L_ of life table ?

(1) Itis number of years lived, in aggregate, by the cohort between the age x
and x+ 1. )

(2) Itisaverage size of the cohort between the age x and x+ [,

(3) Itis total number of years lived by the cohort after attaining age x.
(4) Iltgives the age-distribution of the life table stationary population.
P 8 @ k8 Sfras wroolt % 2 6wt men A R 7

(1) @T@Hﬁ(ﬁﬂ}mx M x + 1 3g % o, T 4 5, Ry mo el
HEATE |

(2) ¥ SrEEEt (Hig) & x W x + 1 317 & dt9 7 ofmw s 2
(3) W eI (HIE) F x Y YT R 10 5E 39 H v ?
(4) 98 Sita Aol wTeR SHEEn % g W F A d

(36) {Continued)
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:lnma continuous flow of manufactured products, by process control we mean
(1)  Allthe goods produced are of exactly of same quality.

(2) Variation in the quality is due to assignable causes only.

(3) Variation in the quality is due to random causes only.

(4) Variation in the quality is due to both assignable and random causes.
Wfifa searet % fanelt wam vame o whsa Prao g0 aeed 4

(1) il 3enfin Fegd w8F wum o 4 F

(2) Toraen # oitgd daet fafRa o @ #

(3) wuEw & ufted Faw TRfwE won A § |

4) o & aiads e ol afeow aRi Fnwi A 2

Which of the following is/are true for product control ?
§ : The proportion of defective items being manufactured is not exces-
sively large,
P : The lots of the manufactured items do not contain excessively large
proportion of defective items.
Choose your answer from the following codes :

{1) BothSand P are true. (2) Sistrue but P is false,
{(3) Sis false but P is true. (4) Both Sand P are false.
vz P S R i d @ dm aer §/2 7
§ : eI St AR Aol dreqet awgad = eeE sl am i R
P;@Tﬁaﬁaﬁmaﬁaﬁ%%{ﬂﬂ@aﬁﬁwmﬁmmmw
g

o g Perfeiee w21 4 4 5

(¢ Saln PR w E | (2 SER RNy Pome R |
(3 SATI R U AR E | () S Port o §
!3}1:, (.TH?"? QPET}
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76. Process control is carried out

(1) before production (2) during production
(3) after production (4) anytime
wfFan Fram
(1) 3R 3 (2) I &
(3) IR & =™ (4) fordt oft g
waifa e s #
77. The statistician who invented control charts for use in industrial quality
control was
(1) Deming (2) Taguchi (3) Pareto (4) Shewhart

¢ wifewhye, fme i Trm e f Wi % fo fem-ad € aw
&, !

(1) ¥ (2) weh (3) ¥R (4) hraré
78. In the theory of time series, shortage of certain consumer goods before
annual budget is due to
(1) Irregular variations (2} Cyclical variatione
(3) Seasonal variations (4 Secuiarirend

Fret A0t & g & FAR A F FAG FO FEE F0 A w0 T
(1) & ufedy (2} Thm ok
(3) +gFE ThEd (1) G
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79. Graph of time series is called

840,

81,

(1) Line graph

(3) Trend

wrer Aot % 1 = e
(1) W us

(3) s

(40)

18P/22123 (1)

(2) Historigram

(4) Histogram

(2) SR SEE
(4) frdom

Amixed model of a time series with components T, S, C and [ is

& 3oht % wewi 7, 8, C oin [ = fifde ofew 4

(1) I=YxCxTIS

(3) ¥Y=T+5+C+I

(2) Y= T+85xC+I

(4) ¥ =TxSxCx/[

Which of the following statements is correct ? Here notations have their usual

meaning,

et woEl § @ W9 G ¥ 7 T wihane o weiem ond e ¥ |

P i =1__GIJ¥GJ-'
o 2=y,

i.a
e
s me I_.l'

ol colle S S5

(Turn Over)
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82.

83.

On a downward-sloping linear demand curve. totai revenue would be maximum
at the

(1) midpoint of the demand curve.
(2) lowerend ofthe demand curve,
(3) upper end of the demand curve.

(4) Itis impossible to tell without knowing prices and quantiiies demanded.
3} gref s win 9% W, wwa vem st B

(1) Wi 9% % Feafag W

(2) " e ftw

(3) @ aE & wh B W

(4) abft TR T SO F A o wa wm E g

Engle's law states that
(1) Asincome grows, the proportion of income spent on foud decrogsny
(Z) As income grows, the proportion of income spent on food increases,

(3) There is no effect of income growth on proportion of incomie spent on
food.

(4) Asincome grows, the proportion of income spent on tood first increases
then decrease

e Frem garar 2

(1) 2 39 wman &, 9 o @9 g wed gy o WA

(2) W8 I TG}, T W AW @i W A 5 et o

(3) a7 agAt ® @ TR A 59w & kAP S R S
(4) 8 G0 TG R, W WA AR Y w a e o s 0 ¥

(40) Lwniinned
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44

e price elasticity of demand of a commodity is  If the

R i
) (p=-D(p+2)
quantity demanded is 8 units and price is % 2, then demand function is

Reel! e & i 1 Ty T P 8
5 E Gl {p_]]{P”}%:?lﬁ#‘ﬁﬂﬁmﬁm'naﬂt

T T2 W, @ w1l wes B

_p=D) Ap+)
g = Ap+2) 2) (p-1)
(3) x=(p-D(p+2) 4) x’-'{‘rH }

| (p=1)

83, Fisher's index number is ideal, because it satisfv

(1Y Oirenlar fest

o |

¢ 2} Only Factor reversal test
(3) Only Time reversal test

{4) Factorreversal test and Time reversal test both
RR 1 YFHH ey & 4 6l T TR o
(1) e e

I TTIEN JERRY TsW

T T TEEAT e

T T S WNY SRR qauT

{413 (Turn Over)
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86.

87.

Ina Linear programming problem, if dual has an unbounded solution, primal has

(1) no feasible solution (2) unbounded solution

(3) feasible solution (4) None of these

Yo s T #, af o & o v sefim w4 A srfr & o
(1) =1 9T wamam T (2) el wvmR

(3) wwa ww™ OR SRR EL

Which of the following methods is used to verify the optimality of the current
solution of the transportation problem ?

(1) Least cost method

(2) Vogel's approximation method
(3) Modified distribution method
(4) All of the above

TiaEA 6t FwE % FauE @R 6 IR B e w0 &
o vzft =1 Iwam e k7 e e e

(1) wx @ aren fafy
(2) =T i hew ffy
(3) wifie férec farfy
(4) I at

(42) (Continued)
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89,

90.

(44)

18P/22123 (1)

:‘il]ie}lungarian method for solving an assignment problem can also be used to

(1) atransportation problem

{2) atravelling salesman problem
(3) both(1)and (2)

(4) only(2)

(1) = iEe gwem
(2) o= aEn R wwey

(3) ()aq(2)
(4) % (2)

Let A be the forward difference operator with interval of differencing to be
one. The value of A’{(1+x) (1-3x) (1 +5x)} is

M A o SR e X e s @ o e A @
A'{(1+x) (1-3x) (1+5x)} wT oA}

(1) -6 @) -1 (3) 15 (4) =90

If A is forward difference operator, then under the consideration of 'differ-
ences of zero', the value of A3 (P is

M A ST SR e A W F o e & et A2 08w wm b

() 6 () 3 3) 1 (4)0

(43) (Turn Over)
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91.

92,

For a given set of values (x.f(x); i =1n) of arguraents and entries, the
inverse interpolation is used to obtain (in the given range of values), the value
of

(1) f(x,) corresponding to given x;
(2) x,corresponding to given f(x,)
(3) Inverseof f(x,)

(4) Allofthe above

foi ol & Rt % WM (x,, f(x); 1=1,n) TR0 (2R R Wt ) oy o),
e ST w1 s frerfaiea @ & feed e gm0 % B e o b

(1) f(x,) W, I waid x, F AH foan &
(2) x, % ", IR w@fw f(x,) WA RA A

(3) f(x,) % IoM T
(4) IO wft

Given f(0)=1 and f(1) =3, then the value of integrsi
Trapezoidal rule, comes out to be

fear & £(0) = 17 f(1) = 3 o9 gRie® & 50 Tost | (o mowm g

(1) 1.5 (2) 1 (3} 2

(44) {Coniined
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5.

36.

(46)

18P/221/23 (1)

The order and degrée oTmeE UMETeTCCCYUTIOT
LS E4+)-21() fx+2) 4414z +3)= pl)
15
A wHfiEy
LS x+D)=21(x) F(x+2) 41 (x+3) = p(x)
w1 9 TS B
(1) 3,4 (2) 4,3 (3) 3,7 4)2,5
if A is forward difference operator and v is backward difference operator,
then (1+A) (1-V) is equivalent to
:ﬁa ST S e & AUy GYE SRR SR R W (144) (1-V) Tage

(1) AV (2) A-V (3) 0 (4) 1
When interval of differencing is 1, the first difference of a junction f(x) is
¢'. Then which of the following is 1(x)

maz?mmmnmwwf{x] AW AR e I A AR
f(x)

(1) e @ e () = @ <

e-1 e~1
Games which involve more than two players are called
(1) Conflicting games (2) Negotiable games
(3} N-person games (4) Allofthem
g ot 2 & wiftss fgerd e ¥, @ o &
i T A @ s (2) TEET T
3 N-saf Ee (4) 370 & oft

(45) (Turn Over;
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97.

98.

99.

In I'l']_ﬂ"(l'.rl.s GV L aea s at v et = wnd vaduwed OF SOINEC

(1) Middle period (2) Starting periods

(3) Endperiod (4) Starting and end periods
e wreg T4y # @ vaf & F0 wR T R grt

(1) o\ & @l & (2) T8 % Iafy &

(3) ¥ % 3wy & OREE R
Secular trend is indicative of long-term variation towards

(1) Increase only (2) Decrease only

(3) Constant (4) Either increase or decrease
drferrett vy T wHn 8§ qecE S A B

(1) el o = (2) @t v+

(3) & 7H (4) TR TG A

In double sampling plan, if the number of defectives in the lot is in between
the two cut off numbers then

(1) Accept the lot
(2) Reject the lot
(3) Take another sample

(4) Go for inspection of each item of the lot

g At 3, a3 30 el i wen 3 Rl denst ¥ v @ 6
(1) &= w@iFa we

(2) T sAIFA i

(3) g wfoed <ffird

(4) & F ¥F a5 = Fdaw Hif

(46) (Continued)
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100. Each contrast among k treatments has following degrees of freedom
k ITERI % #1a Wedw wgree A wEa S8 tEa R

(1) (k-1) (2) 1
(3) 4) (k-2)

101, What is the name of following layout ?

42 72 e 3 e w2

A B C D
A C B D
B A B C
A A B C
(1) CRD (2) RBD
(3) LSD (4) Factorial (Sg3awertt)

102. The amount of bias in regression estimator of ¥ may be very high due to
(1) High value of higher order moments

(2) High value of correlation coefficient

(3) High value of regression coefficient

(4) High value of coefficient of variation

7 % g sers 3 fima 6 o 950 s 8 et}
(1) 3= Ul STl & WAl & ST B W
(2) wETEY U F AH SO B W
(3) TV UIE F WA G R |
(4) o= o 1 AW TG EH W
(47) (Turn Over)
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103. An exhaustive list of all members of the population along with their identifi-
cation particulars is called

(1) Sampling design (2) Sampling frame
(3) Population design (4) Population frame
waft % wit e i g, 5% oy fafireadt & aw, # w0 K
(1) et srirpes (2) st e

(3) wfe st (4) wfd gt

104, Critical region of size o which minimises § amongst alj eritical regions of
size @, is called

(1) Powerful critical region (2) Minimum crifical region

(3) Best critical region (4) Unbiased criticaf region

o R % T R & & e, o R W EfRE gy p = w5
%, wwame £

(1) wftrmel wfae & (2) e wf3s &
(3) @alan wie 43 (4) sefier i &y

103. In reference to the properties of estimators, shoose the SOresct Statements -
() Corsistznt estimators need not be unbiased.
¢} Lnbiased estimators are nacessarily consistent,
(iii) Unbiased estimators are unique.

(ivy Consistent estimators are never unique,

(48) (Continued)
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Choose your answer from the following codes :

(1) (i)and (ii) (2) (i) and (iii)
(3) (i)and(iv) (4) (iii) and (iv)
e & et % et § Wl ww w9 FRE

(1) wW e wel T R s )

(i) sFfra e savewa: O B 3 |

(iii) e sTrers afgda B 3
(iv) ¥ Frwers ot oft siRde T AR E )

s v P 4 8 & g
(1y (i) 3 (i) (2) (i) 3 (i)
(3) (i) 3 (iv) (4) (iii) 3 (iv)

If X,.X,,.X, isarandom sample from any distribution having finite k-th
moment £ (X ‘), the consistent estimator for E (%) is

"yt 1<
M XX @ ;2 X
(3) Both(1)and(2) (4) Noneof (1) and (2)

o X, X,,..X, , @@k at EXXY sl w @ feft i @ o aefees
gfaedt 8, d E (X*) #1 @1 A g

£ o b
OIPIE @ 2%
(3) (1) 3k (2) aA 4) (1) 3t (2) % A # =

(49) (Turn Over)
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107. If x, and x, are two independent Poisson variates with parameters A, and
3, respectively, the variable (x, +x.) follows

T x, SN x, e v R R e A oA @ (x, +x,) B
(1) B4+ ) 2) P(4+4)

(3) .“»"(,r:.dr?] (4) Ein, A}

108. If X~5 -}J and ¥~ B(: .,] the probahility of P(Y+ ¥ =3} is

R X~ H(-;- Y- lel ® W PX+ Y= ) B
5

(1) 716 (2) 7732 (3) 11/16 ¢ 0
108, If X~ B(n, p), the distribution of Y=(n-x) is
IR X~ B p) A Y= (n-x) F & 8M

(1) B(n, 1) (2} B(nx) (3) B(n,p) {4) B(n, gq)

118. If X¥~¥{y, o). and Jf_--ﬂ_ then P(|Z!>3)is

_’TI]L‘: A~ 2 1.1,1.('}'2} r'd E:‘-‘l’"ﬁl “-'h Flf,‘ZJ}?’] m

o

(L 2 2) 0.05 (3) 0 (4} 0.9027

£30) (Centinued)
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113.

(52)

18P/221/23 (1)
i‘or Peisson disitibutiog
T W S
(B = (2} B, - B,—-3=9
(3 B, ~ B, =1 (4) B, - B, +1 =0
Poisson distribution P(1) is always

(1) positively skewed

(2} negatively skewed

{3) symmetric

{4} negatively skewed only for A > 5
Gt w2 P whE

(1 e feer e d

i2) Fmes B gt

(3) waftm g

(4 wEE A > 5% e woners fy B b

X is any continuous random variable having cumulative distribution function
FYv)and £0X) exists; then E(X) can be given as

W {7 p-Fea @) |, 0-Fon

3) [ ft-F()+ F(-x)ax @) 7 1-Fuio)+ F-x)ldx

X, gl 92d WA Fix), T a1e 91§ 5ea = § 3 FLO) w1 afee §; & B

(U [ 0Pk @) [ 0-Fols
3) | - F)+ F=x)lds @ [ 1P Frexlde
Fi A Bay o wwar 2
51} {Turn Over)
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114. X is a continuous random variable having cummulative distribution function
F(x) and probability density function f{x). Which of the following statement/
statements is/are true ?

S: Ax) cannot exceed F(x) for any x.
P: fx) cannot exceed one for any x.

Choose your answer from the following codes :
(1) BothSand P are true.

(2) Both S and P are false.

(3) Sistrue but P is false.

(4) §is false but P is true.

X, gl 97 wel F(x) 3l R v S flx) e e ¢ daa aigfiee
v | Pt e e i A a aa RE 7

S frdt ot x F AT Ax), Flx) @ it 2 @ v @
P frf o x ¥ R fy) & A ot ol g w1

frfefige el § & 791 W gAC
(1) Sl PaFi o= & |

(2) S Pl sE E |

(3) STatwg PyEAR |

(4) SyEaiwg PO e

(32) (Continued)
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117.

(54)
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For three attributes A B and C, the number of second order class frequen-
GIES 1‘!

g i ot 4, B 3k C & o, il A o ancsmonst 6 se B
CEY {2) 9 (3) .12 {4) 15

For three attributes 4, B and C, the class frequency (ay) in terms of other
class frequencies can be expressed as :

ok e ol 4, B o € % R o amemmen (ofy) o ot w0 &
& B

(1) (4B)+(4C)-(B)-(4BC)
(2) (ABC)-(B)+(AB) - (BC)
(3) (UBC)-(4)-(C)+(B)

(4) (B)-(4B)~{BC)+(4BC)

If in case of two attributes 4 and B, the class frcquenc}f {4B) =0, the value
of @ is

M1 @) -1
(3) 0 (4) Any value between 0 and -1

uﬂfrgurem’u aﬂ{ﬂﬁﬁﬂrﬁrﬁ @ FERE (4B) =0, 7 el O, O , &
WA T

(1) 1 2) -1
(3) 0 @) 0¥R -1 FfemFE =

(353) {(Turn Over)
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118. The relation between Yule's O and coefficient of colligation Y is
g & (0, 3R I F [ ¥ F 9 way g
(1) @ = ¥(1+Y?) @) O = 2VI(1 + ¥3)
(3) = H(1+2F% (4) 0 = 2¥(1+2v)

119. Given the cell frequencies for two attributes as,
(4B) =90, (oB) =60, (4B) = 180 and (aB) =30,
the coefficient of colligation is

3 7ot % fore @t v e ¢ .
(4B) =90, (aB) = 60, (4P) =180 M (ap)=30

79 ST F N &
(1) -1 (2) 2/3 (3) =113 (40

120. Given that (4B) = 150, (4B) = 250, (aB) = 260, (af) = 2340 ; find the valye
of N.

afg fGa &, (AB) = 150, (4B) = 250, (oB) = 260, (af) =2340 7 N = ur wrm

(1) 2000 (2) 2500 (3) 3000 (4) 3500

(54) B-2,000
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17P/297/17(i)

(To-be filled up by mmma-ﬂum Mm

Roll No,

Serial No. of OMR Answer Sheet ..: .
Day and Date

n Danat .
lﬁ:&me wﬁumurblmk, inside the Examination- Haummmm

2
3 B -

- ; mmmmmkm

4. %MMM“MNMﬁW&WMWmmIMMMM
3

. On the front) be A
front g of the A Rﬂﬂﬂmhrhﬂnm at
g by , mw&uﬂwﬁ: Quextion

8. No overvorii #Maﬁrm ookdet
on OMR: mmmMmmjzﬁ R e . o)

A Myﬂmhm
- Mmamhwqmm etherwive 1 will be taken

8. Mm’“ﬁ#mk ,
Sednnd bﬂwwwm question
mmﬁﬁﬂm e Answer Sheel by darkening the I huck circle iy he
. g’“”ﬁ’-‘@frﬁldmm Shhoet, by pen as mendioned fa the sidelines given o the
+ TOFeach question, darken,
or darken a gircle mﬂﬂf mmb:hmmu o Shest. If you darken mioe thar one circle

10. Note that the vavwar
Pocic i !m aﬂmmeéﬂﬁ&ﬁk’w be chanﬁké’;w do not wﬁ?ﬂfggmﬁm a

13, Ymmnotpwm - 3
m xan mahm Hall unti] the end of the Tegt.

14, ifa candidate attempts to uso iy Bk
the University may detgrmine and imposk s -,_, ““’ he/she shall be liable to such punishrhent a5
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0 Prhtad?aﬂﬁ . {ﬂﬂh‘ﬁ'%-@##mmgywﬁwﬁ?
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Downloaded from https://pkalika.in/que-papers-collection/

SEAL



Mac. im Stadesdics amd WJ*""”——._

coda Wo(Se ’)
e
17P/297/17()

No. of Questions : 120 -
Time : 2 Hours Full Marks : 360

Note: {l}ﬁtttmptasmanyqunatmnsasyoumn Each question carries 3
- {Three) marks. mmmnhmwﬁrmuw
answer. Zero mark will be awarded for each unattempted
question, - :

[2] If more than one altemanveammmmheappmxﬁnmm
thcm:mtm choose the closest one.

01. Two suppliers #ﬁ'@ramﬁahh:epmﬁthmumqlﬁreﬂ 1” diameter.
- Supnli&&.’spm&ucthasamuan 1.2” and standard deviation of

0.24", whereas auppherﬁ‘amduﬁha&memﬂ 9* and standard
deviation.of 0.18%,

Assertion (A) : Thequahtydfﬂnepruductsdsuppherﬁand
suppherBareaame

Reason (R} : Themufmeﬁmentufmﬁonfwmepmdmtof
both is 20%, - Choose your answer from the following codes :
(1) Enthﬂmdﬂmtmeandﬂmmmctmplanaﬁmom

(2) Bﬁhﬁ,and Ris true but R is nat mrrectexplanﬁﬁonbfﬁ
(3) Aistrue butRisfaIm

4) Aisfalse but R is true

- . ' . ' PiTiO.
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02,

03.

05.

Let us define a new statistic as the distance between 70th sample
percentile and 30th sample percentile, This new statistic would
give us information concerning .

(1) central tendency. (2) Dispersion
(3) Skewness (4) Kurtosis

A frequency distribution is bell shaped. Keeping the total number
of observations same, if the equal frequency at both the tails are
increased, then the standard deviation shall :

(1) Decrease

(2] Increase

(3) Remain constant

{4} Nothing definite can be said unless exact data is given

. Areading test with 50 possible point yields a bell-shaped distribution

with scores ranging from 5 to 48 on a large sample of third graders. If
the same test were administred to fifth graders, what would we expect
the form of the frequency distribution to be ?

(1) Negatively skewed

(2) Symmetric and bell-shaped

(3) Symmetric, but not bell- shaped
(4) Positively skewed

A percentile score of 40 indicates that a person :

(1} answered 40% of the questions correctly on the test

(2) knows 40% of the material covered by the examination

(3) has earned a score equal to or better than 40 persons in his

class
(4) has earned a score equal to or better than 40% of the persons

in his class
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06. Consider the following distribution ;
class interval £ Cum f Cum %
75-83 5 200 100.0
66-74 12 195 97.5
57-65 15 183 | 91.5
48-56 38 168 - 84.0
39-47 . 60 130 65.0
- 30-38 40 90 35.0
21-29 13 do 15.0
12-20 10 C17 ; 8.5
3-11 77 3.5

The frequency of 38 in the interval 48-56 means :

(1) 38 frequencies are at the upper real Iimitufgthe interval,

(?) 38 frequencies are at the lower real limit of the interval.

(3) 38 frequencies are spread out throughout the interval.

(4) 38 frequencies are at the upper apparent limit of the interval,
07. Frequency distributions are useful for All BUT which: of the

following objectives % '

(1} Investigation of characteristics of each observation.
(2) Summarization of data.

3) Cmd.enaa:tmn of large sets mfemrﬂ!ﬁ-m
(4) H]uqtmtmn of the ammmt of variability in data.

ﬁ, : 3 PlT-O.
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08.

10,

A graphical presentation may accomplish ALL BUT which of the
following objectives ?

(1) Mustrate the amount of variation in the data
(2} Mlustrate approximately where the mean is
(3] Allow comparison with similar data

(4) Will have the exact same shape regardless of what units are
used on the axes.

Mr. X wants to purchase a car but he is confused to choose the
one. The probabilities that he will go for the category B or category
C cars are respectively 0.54 and 0.46. If he selects category B
cars, he will buy either Palio or Indica with respective prebabilities
0.48 and 0.52. On the other hand if he goes for category C, the

probalities of buying Accent is 0.59 and that of ikon is 0.41. In

the light of the above information, which car do you think Mr. Xis
most likely to purchase ? ~

(1) Palio {2) . Indica

(3) Accent (4) Ikon

An unbiased coin is tossed until a head is obtained or the total
number of tosses is 7. It is desired to calculate probability of the
event E that coin is tossed at lest three times. In this context read

the following carefully :

(ij The total number of mutaually exclusive and equally likely
outcomes is 8,

(i) The number of favourable outcomes to event Eis 3.
(iiij Probability of Eis 3/8

Choose the correct answer from the following :

(1) (i) is true but (ii) and (iii) are false

(2) () is false but (i) and (iii) are true

{3) All are true

(4) Allare false
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In tossing of a four times, the events E, and B, ‘are mutually
exclusive if : : ’

(1} E, :Getting at least two heads and E, : Qetting at most two

tails,
(2) E,:Getting at least two heads and E, : Getting at least two
E < tails. ;
(3) E, :Getting at least thrée heads and E, : Getting at most
_ o | three tails,
(4) E,:Qetting at least three heads and E, : Getting at least

three tails,

In & multiple choice test having m choices in each questios

. e - ch question, an
L Raines tiﬂ:nﬁf kniows the answer with probability p or guesses
with probability {1-p). The probability of answering the question
:Zmﬂﬂy 18 1, if he knows the answer and 1/m, ifhe guesses, If
he really knew the answer is s e L

(1) mp/(1+mp} @ (m-1)p/(1+mp)
@) mp/(1+{m- 1P 4 (m-1jp/(1+(m-1)p)

Which of the follewing is always true ?
(1} Karandom variable X has nomoments, i
: ‘nomoments, its r i
function will never exist, TeRna
2) 1If gﬂtgiglmnvmiable X has all or soff®esahe moments, even
thcn_ 4 13 moments génerating functio 7 Tiot exist exce
s e 'tlng Il may niot exist except
(3) If & random variabie X has all or some of
ndom variable X has ome of the moments and
moment generdting function. exists, it will always generate

those motiients which exists
(4) If a random. variable X has all the moment, its moment

T . P.T.0,

Downloaded from https://pkalika.in/que-papers-collection/



(62)

17P/297/17(i)

14.

15.

16.

17.

Which of the following CANNOT be probability generating function ?
(1) s°(2-s) (2] (1-s%9)/10(1-s)
(3) s/(2+s) (4) 4n(1+3g)

The joint probability mass function of random variables X and Y

flx,y) =

The marginal distribution of :

(1] X and Y both are Poisson

(2) X and Y both are binomial

{3) X is binomial and that of Y is Poisson

{4) Xis Poisson and that of Y is bhinomial

The joint probability density function of {(X,Y) is fx,y} = exp {-(x + B
for 0 < x<pand 0 <y < <.

Statement S ; X and Y are independently distributed.
Statement P : P{x <Y | X < 2Y) = P(X<Y).

Choose your answer from the following codes :

(1) Both S and P are true

(2) - Sis true but P is false

(3) Sis false but P is true

(4) Both S and P are false

If random variable X has Beta type I distribution 8, (a,b) then the
distribution of random variable Y = 1 -X will be :
(1) B(Lb) (2} B(ba)

(3) B,lab) 4) B.b,a)
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Read the following statements carefully in context of the function
given below :

oft)=1-[t], i |t] <1

C=0,if jt] > 1

19.

Assertion (A) : @ﬁt}camtbecharastenmcsﬁmm@any
random variable.

Reason (R) : o () is not continuous function of t.
Select your answer from the following codes ;

(1) Both A and R is true and R is correct explanation of A.
2 Butl;AanﬁRmtmehutRmmtmmlanatmnofa
(3) Both'A and R is false

(4) Autmc_butﬂ;afalse

Mean is always less than variance for :

(1) Negative Binomial distribution only

(2) Geometirc disribution onty

) I:uga'tiw Binomial distribution and Geometric distribution
oth

(4} Neither Negative Bmﬂmal ﬂmtnhutmn nor Geometric.
dimfbtmm

The t—ﬂmnhuhan with one degree of fmedmn is :
(1) Cauchy's distribution =

{2) Beta distribution of first kind

{3) Beta distribution of second kind

(4) Normal distribution

: 9 _ - P.T.0.
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21. The joint distribution of X and Y is f, &y) = [nl/{xl y! (n-x -y}
P’ (1-p-g)** forx,y=10, 1,2,.....n; X+y <n;0<p,q< 1and
p +q < 1. Read the following statements carefully :

Assertion (A) : X and Y are binomiaily distributed with parameter
(n,p) and (n,q) respectively

Reason [R) : X and Y are dependent having non-linerar regressions.
Select your answer from the following codes ;

(1) Both A and R is true and R is correct explanation of A.
(2] Beoth A and R is true but R is not correct explanation of A.

(3) Both A and R is false
(4) Ais true but R is false

22. The probability density function of X is :

1
f[X:l= m;-w{x{m
Then, the distribution of X? would be
(1) N (0, 1) distribution (2) t- distribution
(3) x2distribution (4) F - distribution

23. For normal distribution with mean 10 and standard deviation 15,
the ratio of mean deviation, standard deviation and quartile

deviation would be :
(1) 10:12:15 (2) 10:15:12
(3) 12:15:10 (4) 12:10:15

10
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24. X and Y has the joint probability density function f{x,y). The
marginal distribution g(x) of X and hfy) of Y are noymal. The
covariance between X and Y is zero. Then,

(1) fix,y)maustbe bivasiate normal and should be equal to g(x) h (y)

(2) fixy) must be bivariate normal but may not be equal te gih(y)

(9) ﬂs,ﬂmnmmmmmmmmmmmm
hig)

(4) ﬁmﬂwnﬂhhﬂmﬂmmﬂmﬂwmtbemﬂm
g k()

25. Kandemdmdeﬁumvmammmxmm
distributed with mean zero-and variance o2 and Y takes vilues + 1

or - 1 with equal probability. The distribution of § = XY + X/Y is :
(1) Nermal with mean zero and variance ¢? '

(2) Normal with mean zero and variance 247

(3) Netmal with mean zeto and variance 4 gi

(4) _Hot.nmmaiatﬁmm but mixture of normal distributions

26. Xis a bineinis mwiﬂapmtﬂ {n,p) and F.ig F-statistic
with 2k, 2{:n«k+11’} dégrees of freedom. Then :

(1) Plxsk-1)=P{F>m-k+1)p/k(l-p)
@) PEsk1)=P(F<m-k+1)p/k(l-p}
3) Pacp-=P@E»fa-p+1)k/p(l - k)
4 Pxsp-1)=PF<m-p+1)k/p(l-k)

11 P.T.0.
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2?‘

B B

28.

29.

Which of the following is true relation between Pearson’s p, and
B, coefficients ?

[1] ﬁz Bl'l ' {2] 132 :-'_’ﬁ1+1
B, - 1 ' {4] B, 2B, +1

1%

I

A cyclist pedals from his house to his college (which is 7 kms.
Away from his house) at a speed of 10 kilometers per hour and

returns back from the college to his house at 15 kilometers per
hour. His average speed is

(1) 12.5 @ 12 (3) 13 4) 11

In a frequency table, the upper boundary of each class is k times
of the lower boundary. X, and f are the midpoint and
corresponding frequency of theith (i=1, 2, ..... m}) class. N is the
sum of all the frequencies. Then which of the following statements

is/are true ?
Statement 8: x, =x, k'
Statement P : Geometric mean of the data is exp(log X,

* mgkztﬁfal

Choose your answer from the following codes :
(1) Both § and P are frue (2) Sistrue but P is false

(3) Sisfalse but Pistrue (4) Both S and P are false

12
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30. We have a data set consisting of 40 observations where an

31.

32.

observation can be either 5 or 10. Which of the following
statements are true ? :

81: Themeanandmed:anfm'thad&tamllbe samerﬁ‘ﬂ:evarmnce
for the data is zero,

82 : The mean and median for the éatamllalwayadlﬂ'ﬂrlfﬂle
range for the data is.5. -

Select the correct answer from the follcrwmg codes :
(1) Both 8, and 8, are true {2) S,is true but S, false
(3) S,isfalsebut ".5fJ is true {4) Both S 'and S, are false

Under usual notations, it is given th_amrﬂrﬂ*zﬂ =T, = p,then
(1) R =pandr,  =p.

(@) Ryp=p V2/fi+p) andr,;=p 2/ fil+p)
(3 R, '-'='F‘wa\fl+ p) arrd 1, .-pf('1+p]

4 R, ‘P/(I‘Pi?)mfma'ﬂrw[lﬂ‘l

ﬂmﬁinnm The range of multiple coivelation. umﬁmmt is
+

Reason (R] : Multiple correlation coefficient is simple correlation
coefficient {having range [-1, +1]) between observed values of a
variable and its estimated values calculated from a linear relation
of the variable with rest 6f the variables determined by least square
Select your answer from the following codes :

(1) ‘BothAandRis true and R is correct explanation of A.

(2] Both A and R is true'butRis not correct cxplanancm of A.

(3} Ais false but R is true

{(4) Adlstrue but Ris falge

=

13 P.T.0,
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33. X is normally distributed with mean zero and variance 42 and ¥

35.

mdependently follows exponential distributon with mean 2 5. We
wish to test H, : 52 <1 against H, : &* > 1 at a percent level of
significance. The uniformly most powerful (UMP) test :

(1) does not exist {2) is achis-quare test.

(3) isat-test (4) is a F-test

Let L denote the likelihood function and T be an unbiased
estimator of g{g). Then for K(¢) > O T attains the minimum variance
bound if : _

{1) L=K{e)(T-glo) (2) logL=K(e)(T-gla)

2

3) logL=K(®)(T-glo) (4 acrlogL-K (o) (T-ego)

If Xy <Xy S <Xy be ordered observations from the following

density function :

1
ﬂmm=§ﬂ-1f*ﬁa+1

The maximum likelihood estimate of p

(1) isx, only

(2) isx, only

(3) All values greater than X, + 1 butless thanx,, -1
(4) All values greater than X, - 1 but less than x,, + 1

)

14
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Letx,, X, ........ X_beiid B (1, o) random variables,, O < g< 1. Then,

| ﬂ-l--@

theeattmamrofa T{x]=—72a15

{1) Both unbiaaaﬂ and mnsistmt
(2) Unbiased but NOT consistent
(3) Consistent but NOT unbiased

(4) Neither unbiased nor consistent

. :
f(x, 8) ﬂm}.mm <X,B8<w

The Cramer Rao lower bound for an unbiased estimator of gis:

(1)

o

o 2
Wz ey @ 7
When wmmhngimm a,,nmmal pupulanon with unknown
mearn p andmlknmvm*ianm a?, which of the fumwngiaa
simple hypothesis ?

(1) Hy:pg=10 | (2) H,:p=20, 4 =4
(B) Hyt's?=4 (4) - All the three mentioned above

P.T.0.
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39. Letx, x, ... X, be a random sample from a uniform distribution

41.

on the interval (0, g). then consider the following :
(1} x,, is the complete sufficient statistics for g
(2) x, is an unbiased estimator for ¢

n+l .
(3) [%Jxlni is the asymptotically unbiased for ¢

| ]
(4) (D—}]H. is the UMVUE for ¢

LetX , X, ....X_ be arandom sample from normal distribution with

mean g and variance g, If T =2.% and T, = 2 X, then

inl i=l
(1) T, and T, are jointly sufficient for ¢
(2) only T, is sufficient for §
(3) onlyT,is sufficient for g
(4) neither T, nor T, is sufficient for ¢

A study compared five different methods for teaching descriptive
statistics. The five methods were traditional lecture and
discussion, programmed textbook instruction, prograrr}nmed text
with lectures computer instrugtion, and compurter instruction
with lectures. 45 students were randomly assigned, 9 to each
method. After completing the course, students took a 1-hour
exam. Which of the following is the correct degree f free@om for
an F-test for evaluating if the avgerage test scores are different

for the different teaching methods ?
(1) (5,49 (2) (5,44)
{3) (4, 44) (4) (4, 40)

16
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42. In a survey of population consisting of N = nk ju'nits, a sample of n
units is selected with a random start between 1 to k and then
selecting every k™ unit.

Assertion (A) : The variance of the unbiased estimate of the
population mean cannot be estimated.

Reason{R} : No unbiased estimate of population mean exiﬁts
Select your answer from the following codes :

(1) Both A and Ris true and R is correct explanation of A.

(2) Both A and Ris true but R is not correct explanation of A.
(3) Ais true but Ris false

(4) Aisfalse but Ris true

43, Under usual notations, the effect total [} in'a factorial experiment
is given by : _
(1) (1)+ (@) - (b} + (ab) + (¢} + (ac) - (e) + (abe)
) (1)~ (@) - (b} - (ab) * (c) + (ac) + (b} + (abc)
(8)- (1) + (8) - (b) + (ab) - {¢) + {ac) - (be) +(abe)
) -(1)- @) - E b} + (¢) + fac) - (be) + (abe)

44, ﬂnﬂhmﬁiwliut-afpllmhmbem of the population along with

their ideritification partitulars is called : |
(1) Bempling design (2) Sempling frame
(3) Population design (4] Population frame
o 17 | g P.T.0.
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45.

47.

Read the following statements carefully :

S, ¢ Systematic sampling is partly probabilistic and partly non-
probabilistic,

S, | Systematic sampling provides unbiased estimates if there
are some periedic feature in the list of units.

Choose the correct answer from the following :
(1) Both S, and S, are true (2) S,istrue but§, is false
(3) S, isfalsebutS,istrue (4) Both S and S, are false

The responses in a factorial experiment with factors A and B each
at two levels with three replicatios are as follows (in usual

notations):
[1]=18,]a] = 17, [b] = 25 and [ab] = 30

The sum of square due to interaction AB is :

(1) 6 (2} 4
3 3 (4) None of above
In randomized block design with k treatments and two blocks

with mean B, and B, which one of the following is the orrect sum
of the squares tue to blocks ?

[1] {Bl - lei;'k [2} [Bl - BEFJ’Qk
(3) Ki(B,-B)/2 (4) (B, -B,*/2

18
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48, Fora poht:cai science class, it was required to get.opinion on free
primary education of members of a particular party: from a town.
The town ws divided into 17 biocks, each with similar socio-
economic status distribution and other diversities. Rather than
trying to ﬂhmnahat net‘allmembera of that party of the town. It
was decided to select 3 blocks at random, using simple random
sampling without replacement. For selected blocks, the list of all
current meénibers of the party was collected from the block office
of the party, Then 'crpininn' on free primary education of the
members was collected. What kind of design was used ?

(1) simplerandom sampling (2) Stratifiéd Satmpling
(3) B:fmmahds&mpﬁng (4) None of the above

49. A reésearcher who wanted to determine the benefits of using a
new beginning algebra study tehnique obtained permission from
the schiool of a.district to select students. The researcher prepared .
aalist of all beginning elgehra students of that school and selected
50 out of them atrandom. The researcher divided the students
randomly into two groups each consisting of 25 students, One
group participated in the new aﬁld,jrpr&gram and the other group
wmtmumdthrmghthetrm:malatudymehmqum The greatest
weakness of this study is :

(1) thedivision of the sample into two groups of 25
{2) theuseof only 50 students in the sample
{3) the use.of students from only oneschoo] .

" (4) the use of only two different study techniques

19 P.T.0.
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50. A random sample of size n is drawn from a population of size N,
having mean p and standard deviation o, using simple random
sampling without replacmﬁent. The covariance between any two
sample observations will be :

(1) -o*N @) -o/(N-1)
@) -o%n @) -o*/@-1)

51. Assertion (A): The total error insample surveys will be more than

that in complete enumeration.

Reason (R) : In sample surveys both sampling and non-sampling
errors occur where as in complete enumeration only

non-sampling errors occur.
Choose your answr from the following codes :
(1} Both A and R is true and R is correct explanation of A.
(2] BothAandR ig true but R is not correct explanation of A.
{3) Aistrue but Ris false
(4) Adisfalse but Ris true

52. The geometric mean of 6 values is 59 and the geometric mean of
4 of them is 69. The geometric mean of the other two is ;

(1) (69)¢/(59) (2) (69)°/(59)?
(3) (59)¢/(69) (4) (59)°/(69)*

20
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53. The daily maximum temperature of Varanasi city was recorded
in Ceélsius for all 31 days of May 2015. The drithmetic mean and
geometric mean of these 31 observations were found to be 45° C
(degree Celsius) and 40° C respectively. A ‘C’ dogroe Celsius
temperature is equal to F’ degree Fahrenheit (°F) whm F== 3.‘2_4-
9C /5. If the above data would have been measured in Falirenheit.

S1 : The afithinetic mean would have been 113°F
82 : The geometric mean would have been 104°F
Chooae yours answr from the following codes :

(1) Both $1 and 82 are correct

(2) S1 is correct but 8218 false

(3) 81 is false but S2 is correct

(4) Both 81 and S2 are false .

54. The mean and median of 100 observations are 50 and 52
respectively. The value of the largest observation is 100. It is later
found that it is actually 110. The correct mean and medidn. is
respectively : :

(1) 50,52 (2) 50,62 -
@) 50.1,52 @) 50.1,52.1

55. If the random varigbles X and Y are such that Y= X7, then the
Pearsen’s correlation coefficient between X and Y :

(1) Will be always zero
{2) Will be always positive and greater than Zero
(3) - May be negative, if equally spaced non-negative values of X
. and correspondig values of Y are takEN 4s'data
(4) May be positive, negative or zero dependig on the choice
values of x and corresponding values of Y.
he,

21 | — . P.T.0.
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56.

57.

From population of size 100, a simple random sample drawn by

using without replacement methﬂd has the observations as 4, 2,
2, 4 and 3.

Asserition (A) : The sample total 15 is net unbiased estimate of
population total.

Reason (R} : The given sample canot be a simple random sample
drawn by using without replacement method

Select your answr from the following codes :

(I) Both A and Ris true and R is correct explanation of A.

(2) Both A and R is true but R is not correct explanation of A.
(3} Aisfalse but Ris true-

{4) Aistrue but R is false

X, X, .... X, is a random sample from with known mean 9 and
unknown variance o .

81:{X, +X,...+ X }*/n}-9n is not unbiased estimator of o?
$2: The only unbiased estimator of 42 is

{[xf + X2 +... +:-::] - (%, + %, +...'.~|~Jr1:n)11 fﬂ}f[n—l)

Choose yours answer from the following codes :
(1) Both S1 and S2 are correct

(2) 81 is correct but S2 is false

(3] S1 isfalse but 52 is correct

(4) Both S1 and S2 are false .

22
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3x + 4Y = 11 and 4X + 3Y = 10 are the equations of the pair of
'regression lines for a given data. Then:

(1) 3X+4Y= llmtheaquanonofregmmof}(nnf
(2) 4X+3Y= lﬂmth&equannnnfregremof'funx
3 €
(4) Variance of X and Y are equal

relation coefficient between XandYis 0.75

In case of three variables X,, X, and X, all pme simple
correlation cuefﬁciﬂnts are equal. Then (in the usual notations)

(1) Rig =%gstiase () R: 2= ETIHIM
(3) Rl =Tada (@) Riny=Tasisa

. The following results were obtained from the analysis of a

randomized block design with 6 treatments in 5 bleck :

Mean sum of square due to block = 20

Mean sum of square due to treatment = 20

Total sum of squares = 220

The error mean square is _ .

(1) 4. @ 2 . (3 10 (45 20

A population consists of 6 units (s, b, ¢, d, e and f) a sample of
size 2 is selected by SRSWR, The probability that units a and b
are in the sampleis:

(1) 1/3 @ 1/9 3 1/18 4 1/15

23 P.T.O,
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62. Each observation in a data is multiptied by a positive integer ‘m’
and then ‘m’ is subtracted from each. If the origial value of the
coefficient of variation is VO and the new value is VN, then

(1) VO>VN
(2) VO<VN
{(3) VO=VN

(4] Nothing definite can be said unless the exact value of ‘m’is
known.

63. X and Y are the random variables taking values between zero and
one. If correlation coefficient between X and Y is 0. 7, the correlation
coefficient between U= 10+ 3X and V = 10 - 3Y will be :

(1) Lessthan 0.7 but greater than zero

(2) Zero
(3) 0.7
4) -0.7

64, In testing the following hypothesis, in which case we CANNOT
use F-test, even when we assume that the data is drawn from the
normal populations (s} (notations carry their usual meaning).

(1) H,:o?=o}aganistH : o = o '
{2) H,: p=0aganistH, :p>0 :

(3) Hy:p,=p,=.. HaganistH :p = p, forsomei=j

(4) H,: 6% =25 againstH,: of = 25 :

24
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The joint p.d.f of random variable (X, ¥) is fix,y) which is equal to k
(real constant} for 0 < x < y < 1 and zero elsewhere. The value of k
18

1 - - @2 2

@ 1/2 - . (4} Any number between 0 and 1

Read mmummfmmmmnm of intra-class correlation
coefficient

81 : It can take positive and negative values.
:ﬂmﬁmmoﬁtm;m‘e significance as a departure -
Choose your answer from the following codes :

(1) Both:31 and $2 are correct

(2) S1 is correct but 82 is false

(3) S1 isfalse but 82 is correct

(4) Both 81 and 82 are false

In case of three variables X,, X, and X, all pair wise simple

correlation coefficients are equal tor. Then the partial correlation
coefficientr,, , is:

(1) r @) ?411_1
| _
@ @ 7=
25 —

P.T.0,
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68. For a given frequency distribution, the value of second, third
ceniral and fourth moments are reprutﬂd as 4, 16 and 80
respectively,

Assertion (A) : The frequency curve will be positively skewed and
leptokurtic.

Reason (R} : The central moments are in increasing order.

Select your answer from the following codes :

{1} Both A and R is true and R is correct explanation of A.

(2) Both A and R is true but R is not correct explanation of A.
(3} Aistrue but Ris false

(4) Both A and R is false

69. The test for goodness of fit is
(1) Right tail test
(2) Left tail test
(3) Two tail (both right and left) test
{4) Neither right nor left tail test

70. A group of 30 students are classified as folwos :

Colour of the eye
Sex Blue Brown Black Total
Male 5 8 2 15
Female 5 5 5 15
Total 10 13 7 30

What is the probability that a randomly selected student will be
either female or has black eye colour ?

Select your answer from the following :
(1) 7/30 (2) 15/30
(3) 28/30 (4) 17/30

26
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71. The standard error of the sample correlation coefficient r based
on n paired observations is :

i oy

(1) %;_ g ) lnra
1-r* B :

& & o ow kT

72. A group of 20 boys and 20 girls aged 2 years were randomly
selected and are paired so that each pair consists of one boy and
. one girl, Their increase in weight in a year was noted down. Itis
known. that increase in weight of boys and girls are normally
distributed, We want to test the null hypothesis that the average
increase in the weight of boys and girls are same against the
alternative hypothesis that increase in the weight of boys is more
than that of girls : - |
Assertion (A) : We should-usé Stie tail paired t-test.
Reason {R) : The observations are paired.
Select your answer from the following codes : -
{1) Both A and R is true and R is correct explanation of A.
(2) Both A and Ris traéBut R is not correct explanation of A.
(3) Aistrue but Ris false

(4) Aisfalse but Ris true

“__..'.Mn
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73.

74.

75.

If X follows standard Cauchy distribution then 1/X will follow :
(a) Standard Cauchy distribution

(b) The same distribution as that of square root of F-statistic with
(1,1) degree of freedom.,

(c) The same distribution as that of t-statistic with one degree of
freedom.

Choose your answer from the following :

(1) Only (a) and (b) are correct

(2) Only {a) and (c) are correct

(3) Only (c) and (b) are correct

(4] (a), (b) and [c) all are correct

The variance of the mean of a simple random sample drawn by
using without replacement methed from a population of 36 uits
is one tenth of the population variance. The sample size would

be ; |
(1) 8 @2 9 (3) 10 (4) 11

X and Y are independent random variables with zero mean and
standard-deviations 9 and 4 respectively, If X + 2Y anf KX-Y are
uncorrelated, the value of K would be :

(1) 32/81 @) 64/81 (3} 1/2 4) 2

28
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In order to fit a polynomial of degree ¥’ based on ‘n’ observation (r
<n+ 1) using least square methmd,tlmmnmﬁmathm:wcnwd
to calculateis:

(1) 3n+1 . @) 3r+1

3 n+1 @+

In CRD with 5 treatments, the degree of freedom for the error is
16. If the replications for the treatments firat, second, fourth and

fifth are 3, 4. 4 and 5 respectively, ﬂehmenumhtrnfrephmhons
for third treatemtn is :

mas @ 4 @ s @ 6

- A single pbservation X is drawn from the Bernoulli population

with parameter g. On the basis of it, we wish to test the null
hypothesisH, : g =2/3 against H, : 9>2/3. The test procedure is
to reject H, if X ~0. Howewver if X = 1, we toss to unbiased coins

and reject H, if no head appears. The power fiinction of the test
would be :

) 1/2-35/8 @) 1-3g/4

@) e/2 “4) o8/4

Select the answer from the following :

Fmtesﬁngthegundneaaufﬁt,weuae
{1) chd-aquaremetmly

(2) Kolmogroy - Smirnov test only
(3} Either of the abeove two

{4} Neither of the above two

T

29 P.1.0.
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80. F.‘-:rr the given sample of data, the equations of pair of regression
lines as reported by a student are X - 2Y =2 and X + 3Y = 12

Assertion (A) : The mean of X and Y for the given data cannot be
6 and 2 respectively. :

Reaseon (R) : The above mentiaoned equations can never be pair
of regression lines for any data.

Select your answer from the following codes :

(1) Both A and R is true and R is correct explanation of A.

{2) Both A and R is true but R is not correct explanation of A.
(3) Aistrue but Ris false

(4) Ais false but Ris true

81. Three treatments A, B and C are distributed randomly to 9 the
plots of a square field consisting of 3plots in each row and each
column. The final distribution of the treatments is given below :

A B C
B A C
C A B

Assertion (A} : It is layout of a Randomized block design.
Reason (R} : Each treatment is replicated equal number of times

Select your answer from the following codes :

(1) Both A and Ris true and R 1s correct explanation of A.

(2) BothAandR is true but R is not correct explanation of A.
(3) Aistrue but Ris false

(4) A isfalse but Ris true

30
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82. The joint p.d.{. of random variable (X, Y) is f{x,y) which is-equal to

2 for O<x<y<1 and zero elsewhere. If (mean, variance) of X and Y

are {mx, vxj and (my, vy) respectively Then :
(1) mx<myandvx<vy . (2) mx<myandvx=vy
(3] mx=myand vk<vy (4} mx>myand vx> vy
83. Mean and ‘varisnce both of a variable X having frequency
disribution as given below are 10. |
Class XX, XX, X% XX XX X-X, X-X,

i, 3 - -2 a1 o 1 2 3
_x-a)

: n .

f 13 4 4 4 3 1
Whatmvahmaaﬂ{landxa?-

(1) 2,15 2) 5.15

3) 0.10 @) 3.17

84. Which of the following are probability mass functions ?
(@) fx) = {x~6)/5, for x = 7, 8, 9 and zero elsewhere.
(i) =) ~x%/21, forx =1, 2, 3, 4, 5, 6 and zero elsewhere.
(iif} fx) = x?/55: forx = 1,2, 8, 4, 5 and zero elsewhere.

() Only@jand iy @ Onify i) and )
(3) Only (i and (iii) (4) Al the three
31 P.T.0,
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85‘

86.

Consider the function F_ (x,y) = 1 for x + 2y > 1 and zero for
X+2y<1l

in this context, read the following carefully :
Asseration {A) : Fx, y (x, y) is not joint cumulative distribution

function any random variable (X, Y).

Reason (R) : The value of F, _(x.y) jumps from O to 1 at every point
(x,v) lying on the line x + 2y = 1

Choose your answer from the following codes :

(1) Both A and R is true and R is correct explanation of A.

(2) Both A and R is true but R is not correct explanation of A.
(3) Aistrue but Ris false |

(4) Ais false but Ris true

F is the cumulative distribution and f, which is symmetric about
zero, is the corresponding probability density function of a
continuous random variable. Then which of the following
statements are true for all choicesofa>07?

@ f{a)+ffa)=1

(i) P(jX]| >a)=2F (-a)

(ii)) P {|X] < &) = 2F (a) -1

Choose the answer from the following :
(1) Only (i) and (ii) (2) Only (i) and (iii}
(3) Only (i) and (iii) {(4) All the three

32

Downloaded from https://pkalika.in/que-papers-collection/



(87)

17P/297/17(1)

87. The random variable (x, y) has the joint probability density function

_ bﬂx'ﬂﬂfmﬂﬁx%ﬂ&ndﬂx{yﬁx
fix.}*]={ o, claewher -

Whmhofﬂqullawmgewresswnsgwethumrreﬂtwlucnfk?
8: K= [T xtx-yiy ax

P=K“=j,j‘[,xtx-wxdy+ﬂ [} e - y)ax dy

Choose your angwer from the following codes :
(1} Bothe 8.and P are true (2) Sla‘t!mebut’!'uﬂalau
(3) Bmﬁalmbut?mtme (4) Both S and P are false

88. The random variable (x,y) has the joint probability density function

. [%g~y)/8for0<x<2and -x<y<X
f{x.?}={ e ks
Which of the following give the correct expression for the marginal
disribution of Y ?

Sg{y}mﬁﬂﬂ-l}dx

: x(x-vy) .
R Yax ifo<y <2

ke .
I_imBﬂdz,_lf—ﬁﬁye:ﬂ

P-l g(y]:

Choose your auw from the following codes :
(1) BothSandParétrue - (2) SistruebutPisfalse
(3} Bisfalse butPistrue (4) Both S and P are false

T ey -

aﬁ | P‘ T'I Oi
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89. X and Y are two random variables having finite means. Which of
the following are always true ?

(1) E [Min. (X,Y)] <Min. [E(X),E(Y)]
{ii) E [Max. {X,Y)] <Max. [E(X),E(Y)]
(ti) E [Min. (X,Y) + Min.(X,Y}+] =[E(X), E(Y)]

Chooose th answer from the following :
(1} Only (i) and (ii) (2) Only (i) and (1}
(3) Only (ii) and (i) (4) All the three

90. Consider the following joint pmbahmty density function of random
variable (X,Y).

£(x,5) = [2x2y]" 1 o)1)

The marginal distribution of Y is obtained from
w ]

M [L gxa;dﬂlmm

-

2) f; o dx] Lo (y)

(3} s dx |1, 11(3’]"{]; 2; de 1[1,.»1{}'}

o 2xy

3 ] . |
(4) L.lé - —dx 1in.1}(3'}+[‘[ ——dx |1 oY)

34
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WtﬁchuftheﬁraphuseSOMynnegﬂawmmm.w?
) Howmgem: @) Linediagram
(3) Box and whisker plet {4) Frequency polygon

. In a systemaic sample of size 10 taken ﬁ-am a population of size

100, the 27% , 87*, 57% , 97* and 7% units of the population are
included, thien rest of e five units of the sdtiple are

(1) 17, 7%, 37t 77H and 4?"‘ units of the population

93.

(2) 10%, 20%, 30™, 40% and 50* units of the population
(8) 1*,2%, 39, 4" and 5 units of the population
(4) Anyfive units of the population

If the ooefficient of variations of the study variable Y and the
ausiliary variable X in a population are 18 and 32 respectively,
for what reinge of the coeffictent of correlation phetween X and Y

- the ratio method of estimation will be preferable over simple

random sample ? o
(1) p<0.63 (2) 0.33<p <0.80
() p.0.63butlessthan 0.85 (@)-.a20,88

38 " P.T.0.
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94. Read the following statements :

81 : Classical definition of probability sometimes fails to provide
the measure of probability even when the sample space (space
of outcomes) is discrete and finite. '

S2 : Statistical definition only provides a frequentist’s interpretaion
of probability.

Choose the most appropriate answer from the following codes :

{1} Both 81 and S2 are correct

(2) S1 is correct but 52 is incorrect

[3) 81 isincorrect but S2 is correct

(4) WNeither S1 nor 82 are correct

95. Simpsons 1/3rd rule is obtained by takingn = ......... in the general
quadrature formula. Fill up the above blank from one of the
following :

(1] 1 2y 2 @ 3 (4) 4

96. X and Y are jointly distributed with probability density function
fxy)=(1+xy)/4;-1<x<+land-1<y<+1
=0, elsewhere

Comment on the independence of the variables and choose your
answer form the following codes :

(1) X and Y are independent  (2) Xand Y?are independent
(3) XzandY are independent (4 .X2 and Y? are independent

36
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97. A random variable X has the cumulative distribution function
F(x} given below :

F(g)=0, ifx '50.

=X, if0<x <1

=1,ifl<x

The probability density function corresponding to Fix), if it exists,
is denoted by f{x). Then | "

¥

8:flx)=1,if0<x<1
= 0, elsewhere
P : F(x}is discontinuous at x= Q and x = 1

Choose your answer from the following codes :
(1) Both S and P are true
(2) S is true but P is faise
(3) Sisfalse but P is true
(4} Both 8 and P are false

98, {i -iaothc'-se_t g}f%afﬁvgm::mbum thast or equel to 6 i.e.S =
UgX<cBlL.IfA~ 1 <x<3,B=fx:2<x 6'C= '3.
~:S}emdtl)={x=05m2}.whichnfﬂ1efoﬂomng?aéﬁru{:r.mé§
(1) AUB=&:1¢x<6) (@) BUD=s

(3) AnB=fx:2<x<3} @ cnB=C

|

37
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99. Consider the following function f(x) :
fix)=x%x,if0O<x <1
=2-xifl<c <2
= (0, elsewhere
In this context, read the following statement carefully :

Assertion {A) :f{x) is neither a cumulative distribution function
nor a probability density function.

Reason [R): fx) is neither a monotone non- decreasing function
of x nor a non-negative continuous function of x.

. Select ydur answer from the following codes :

(1) Both A and R is true and R is correct explanation of A.

(2) Both A and R is true but R is not correct explanation of A.

(3) A istrue but Ris false

(4) Both A and R are false

100.Which of the following is most useful for checking the equal

variance across groups for ANOVA?

(1) Side-by-side box plots showing roughly equally sized boxes
for each group,

(2) Histograms suggesting nearly normal disributions of data i
each group.

(3) Summary statisics suggesting that the means of each group
are roughly equal.

(4) Summary statisics suggesting roughly equal ranges for each
group

38
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101.Consider the following segment of C program :
Intx,yv,n; - -
x=1;
y=1;
if(n>0}
Xx=x+1;
else |
y=y-1

a{tﬁ;ﬁem of above program segment the value of x and y if

(1] x=2,y=0 @) x=1,y=0;
. @) %= .}'=1' | @) x=2,y=1

Conﬁdcrﬂiefﬁﬂowmgmmntoﬁlm
inta,b,c,d,f,g;

floate;

a= 15

b= 10;

c=at+ - b

d =++b +a;

bes;

e = float (a)/b;

f=a%b;

a*=b;

Valmaﬁfn,b ¢, d, eandfmermmuunofahwemms

(1} ‘a=~176,b=10,6=5.d = 27 ,e=1.600,f=6
(2) a=170,b=10,c=5,d=26,e~1, =5
(3) a=176,b=1]1,c=5d=26 e=14=5

@) a=160,b=ﬂ},c=5,d=2'}’,ﬂ= 1.600,f=6

-39 P.1.0.
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103.How many of the following declarations are correct ?
Intx;
float letter, DIGIT;
double = p, q
m, n, z; INTEGER
long int m; count;
long float temp; |
Select your answer from the following codes ;

(1) 3 (2) 1 (3) 2 (4) 6

104.C language has been developed by :
{1} Dennis Ritchie (2) Ken Thompson

(3) Peter Norton {4) Martin Richards

105.C program is converted into machine language with the help of .
(1) aninterpreter (2) acompiler

(3] an Operating System (4) Arithmetic Logic Unit

40
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106.Consider the following C program :
main ()
{ .
int num 1, num 2, mam 3;
scanf ("%24 %5d”, & num 1, & num 2);
scanf{*%2d°, & num3);
. printf (%d%A%4d", num 1, num2, num3);
\ _

If the data input to the prngram 31426, 50 and 100 then the
output.-will be :

(1) 31426,50,100 ) 50.31426,100
(3) 314.2650,100 (4) 31.426,50
Conud:erﬂmlﬁllﬁwmg{lpmgam

main (}

{

int ml,m 2, num 3,

scanf (“%d %*d%4", & num 1, & num 2,8 num 3);
printf (*%d%d%”, nim 1, num?2);

} . :

If the data input to the program 123, 456, and 789 then the output
will be :

(1) 123, 789 (2) 123, 456
(3) 456, 789 (4} 12, 34
41 P.T.0,
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108.Which of the following is valid “real variable” in FORTRAN ?
(1) PRAVEEN (2) SIGMA

(3) LION 4 ¢

109.Words having 8-bits are to be stored into computer memory. The

numbers of lines required for writing into ImMemory are !

1 1 2) 2 @3 4 (4) 8

110.Which of the following is valid in FORTRAN ?
(1) 146.86E + 27 {2) 125*E9

(3) +142.7E (4) 123,45E-6

111.-8 is equal to signed binary number :
(1) 10001000 (2) 00001000

(3) 10000000 . (4) 11000000

112.Which of the following is volatile memory ?
(1) ROM (2] RAM

(3] PROM . (4) EEFROM

42
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113.In FORTRAN what will be the correct representaion for 457000 ?
(1) 46 % 108 (2) 45,7 % 10°

(3) 45E6 - (4) .4SE-6

. ' x
114.What is the correct expression for, log, J%

() LOGEQRT(X/Y'Z))° (2 LOGISQRT(X/Y*Z)
@) ALOGESQRT(/Y'Z) (4 ALOGISQRT(X/Y+2))

115.The hexadetimal nusrter ‘A0’ has the decimal value equivalent

to.:

(1) 80 @ 256 @ 100 (4 160
116.The de_falﬂt-MS Excel file extension is :

(1) XIR - (2) EXE .

(3) EXL s 4 XLS

117.Which of the following are special characters in FORTRAN 77 ?
(=) * () 8 (c) : {d) % (e) blank

Choose your answerﬁﬁmmfpnomngcodes ;
(1} (&, (B); (c), (d) @ f(a) () @&
[3] {&}, [b], (C]; tel i on (41 .- fb}l [C], [d}r (ﬂ]

o,

43 . BT,
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118.The product of two binary nummbers [101'1] and (1001} is:
(1) 1100011 (2) 1010100
(3) 1011001 4) 100110

119.FORTRAN statements are written starting from the :
(1) 6™ column to cotumn 72 (2} 6 column to column 73

(3) 7* column to column 72 (4} 7% column te calumn 73

1240.Which of the following is not a Statistical Package ?
(1) SPSS (2) SAS
(3) STATA - : 4 C

44 900
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